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TEKS
AR.2A Determine the 
��Ĵ����ȱ����ȱ�������¢ȱ���ȱ
relationship between a 
function and its common 
�����ȱ��ȱ�������ȱę����ȱ���-
ferences as appropriate, 
including linear, quadrat-
ic, cubic, and exponential 
functions.

AR.2B Classify a func-
tion as linear, quadratic, 
cubic, and exponential 
when a function is repre-
������ȱ��������¢ȱ�����ȱę-
����ȱ��ě�������ȱ��ȱ������ȱ
ratios as appropriate

AR.2C Determine the 
function that models a giv-
en table of related values 
�����ȱę����ȱ��ě�������ȱ���ȱ
its restricted domain and 
range.

MATHEMATICAL 
PROCESS SPOTLIGHT
AR.1F Analyze math-
ematical relationships to 
connect and communicate 
mathematical ideas.

ELPS
5F Write using a va-
riety of grade-appropriate 
��������ȱ�������ǰȱ��Ĵ����ǰȱ
and connecting words to 
combine phrases, clauses, 
and sentences in increas-
ingly accurate ways as 
more English is acquired.

VOCABULARY
common ratio, base, expo-
nent, multiplier, exponen-
tial relationship

MATERIALS
• 2 sheets of paper for 

each student
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FOCUSING QUESTION What are the characteristics of an exponential 
function?

LEARNING OUTCOMES
�Q �ȱ���ȱ���������ȱ��Ĵ����ȱ����ȱ�������¢ȱ��ȱ�¡���������ȱ��������ȱ����ȱ���ȱ�������ȱ

common ratios.
�Q �ȱ���ȱ�������¢ȱ�ȱ��������ȱ��ȱ������ȱ��ȱ�¡���������ȱ ���ȱ�ȱ��ȱ�����ȱ�ȱ�����ǯ
�Q �ȱ���ȱ���������ȱ���ȱ�¡���������ȱ��������ȱ����ȱ�ȱ�����ȱ�����ȱ������ȱ������ǰȱ
���������ȱ��¢ȱ������������ȱ��ȱ���ȱ������ȱ���ȱ�����ǯ

�Q �ȱ���ȱ����¢£�ȱ��Ĵ����ȱ��ȱ�������ȱ���ȱ�����ȱ��ȱ�ȱ��������ȱ����ȱ���ȱ�����������ȱ
���ȱ�¡���������ȱ��Ĵ���ȱ��ȱ�ȱ��������ȱ����ǯ

ENGAGE
Miranda shared a cookie recipe on social 
�����ȱ  ���ȱ �����ȱ �������ǯȱ ����ȱ ��ȱ ��-
randa’s friends shared the cookie recipe 
 ���ȱ �����ȱ ��ȱ �����ȱ �������ǯȱ ��ȱ ����ȱ �����ȱ
���������ǰȱ�� ȱ���¢ȱ������ȱ ���ȱ�������ȱ
�ȱ������ȱ������ȱ��ȱ���ȱę���ȱ�����ǵȱ

243 people.

EXPLORE

�����ȱ ���ȱ�ȱ�����ȱ��ȱ�����ǯȱ����ȱ��ȱ��ȱ����ȱ���ȱ������ȱ���ȱ������ȱ��ȱ��¢���ȱ��ȱ�����ȱ
�����ȱ���ȱ����ȱ��ȱ�ȱ�����ȱ����ȱ���ȱ���ȱ��� �ǯȱ

NUMBER OF FOLDS NUMBER OF 
LAYERS

0 1

1 2

2 4

3 8

4 16

5 32

6 64

 Writing Exponential Functions 1.4 
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4. ��������ȱ��������Ǳȱ���ȱ
ę����ȱ��ě�������ȱ��ȱ���ȱ
number of layers is the 
same as the number of lay-
���ȱ�������ȱ�� �ȱ���ȱ�� ǯȱ
For each fold, the number 
��ȱ��¢���ȱ�������ǯ

8. ��������ȱ��������Ǳȱ��ȱ
�¡���������ȱ��������ȱ����ȱ
���������ȱ����ȱ������������ȱ
because each fold doubles 
the number of layers, so 
the number of layers is 
����������ȱ�¢ȱ���ȱ����ȱ
������ǰȱŘǰȱ���ȱ����¢ȱ����ȱ
¢��ȱ����ǯ

QUESTIONING STRATEGIES
��ȱ��������ȱ����ȱ�������ȱ���ȱ������ȱ��������ǰȱ����ȱ�Ĵ������ȱ��ȱ�� ȱ���¢ȱ���ȱ���ȱę���ȱ
scenario. Ask questions such as:

• How does your data for the area of the folded region compare to the data for the 
������ȱ��ȱ��¢���ǵ

• �����ȱ��ȱ���ȱ� �ȱ����������ȱ��ȱ��ȱ����������ȱ��������ǵȱ����������ȱ��������ǵ
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1. ����ȱ��ȱ���ȱ��ě������ȱ��� ���ȱ���ȱ�������ȱ��ȱ�����ȱ��ȱ�����������ȱ�� �ȱ��ȱ���ȱ
�����ǵ
1 fold

2. ����ȱ��ȱ���ȱ��ě������ȱ��� ���ȱ���ȱ�������ȱ��ȱ��¢���ȱ��ȱ�����������ȱ�� �ȱ��ȱ���ȱ
�����ǵ

NUMBER OF FOLDS NUMBER OF 
LAYERS

ù^�"���å���"��

ù^�"���å���"��

ù^�"���å���"��

ù^�"����å���"��

ù^�"����å����"���

ù^�"����å����"���

0 1

1 2

2 4

3 8

4 16

5 32

6 64

3. ���ȱ���ȱę����ȱ��ě�������ȱ��� ���ȱ���ȱ������ȱ��ȱ��¢���ȱ���ȱ���ȱ������ȱ��ȱ�����ȱ
��������ǵȱ
� ȱ���ȱ¢��ȱ����ǵ
3T��GJHFZXJ�\MNQJ�ù]�"���FSI�NX�HTSXYFSY�KTW�J[JW^�XZHHJXXN[J�WT\��ù^�NX�
STY�HTSXYFSY�

4. ����ȱ��Ĵ����ȱ��ȱ¢��ȱ�������ȱ��ȱ���ȱ��ě�������ȱ��ȱ���ȱ�����ǵ
8JJ�RFWLNS�

5. ��ȱ����ȱ�ȱ������ȱ������������ǵȱ
� ȱ��ȱ¢��ȱ��� ǵ
3T��GJHFZXJ�YMJ�ąSNYJ�INKKJWJSHJX�FWJ�STY�HTSXYFSY�KTW�YMJ�XFRJ�ù]�

6. ����ȱ��ȱ���ȱ�����ȱ��� ���ȱ����������ȱ�������ȱ��ȱ��¢���ǵ
2å
1�"�����

4å
2�"�����

8å
4�"�����

16—
8�"�����

32—
16�"�����

64—
32�"��

7. 
� ȱ���¢ȱ��¢���ȱ ����ȱ�����ȱ��ȱ�����ȱ���ȱŝth fold? 10th fold?
7YM fold: 128, 10YM fold: 1024

8. ����ȱ�¢��ȱ��ȱ��������ȱ����ȱ���������ȱ����ȱ������������ǵȱ�¡�����ȱ¢���ȱ���������ǯ
8JJ�RFWLNS�

9. �����ȱ��ȱ��������ȱ����ȱ�����ȱ��ȱ����ȱ��ȱ���������ȱyǰȱ���ȱ������ȱ��ȱ��¢���ǰȱ��ȱ
¢��ȱ��� ȱxǰȱ���ȱ������ȱ��ȱ�����ǯ
^�"��x
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INSTRUCTIONAL HINTS
Suggest that students write 
measurements along the 
edges of the piece of paper 
each time they fold it. 

Create a need for an equa-
tion rather than continuing 
the table. Ask students why 
an equation in helpful in 
both scenarios.
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Begin with a new sheet of paper.

10. ����ȱ��ȱ����ȱ��ȱ���ȱ�����ȱ��ȱ�����ȱ ������ȱ��¢ȱ�����ǵ
5TXXNGQJ�WJXUTSXJ��.K�YMJ�UFUJW�NX����������NSHMJX��YMJS�YMJ�FWJF�NX������
XVZFWJ�NSHMJX�

11. ����ȱ���ȱ�����ȱ��ȱ����ȱ���ȱ������ȱ���ȱ����ȱ��ȱ���ȱ������ȱ��� ���ȱ�����ȱ���ȱ
����ȱ��ȱ�ȱ�����ȱ����ȱ���ȱ���ȱ��� �ǯȱ��ȱ��������¢ǰȱ�����ȱ��ȱ���ȱ�������ȱ�����ȱ��ȱ�ȱ
square inch.
&SX\JWX�XMT\S�FWJ�KTW�F�WJLZQFW�XMJJY�TK����������NSHM�XMJJY�TK�UFUJW��.K�
XYZIJSYX�ZXJ�INKKJWJSY�XN_J�UFUJW��YMJS�YMJNW�FSX\JWX�\NQQ�[FW^�

NUMBER OF 
FOLDS

AREA OF
REGION

0 93.5

1 46.8

2 23.4

3 11.7

4 5.8

5 2.9

6 1.5

12. ����ȱ��ȱ���ȱ��ě������ȱ��� ���ȱ���ȱ�������ȱ��ȱ�����ȱ��ȱ�����������ȱ�� �ȱ��ȱ 
���ȱ�����ǵ
1 fold

13. ����ȱ��ȱ���ȱ��ě������ȱ��� ���ȱ���ȱ�����ȱ��ȱ�������ȱ��ȱ�����������ȱ�� �ȱ��ȱ 
���ȱ�����ǵ

NUMBER OF 
FOLDS

AREA OF
REGION

ù^�"������å������"�ü����

ù^�"������å������"�ü����

ù^�"������å������"�ü����

ù^�"�����å������"�ü���

ù^�"�����å�����"�ü���

ù^�"�����å�����"�ü���

0 93.5

1 46.8

2 23.4

3 11.7

4 5.8

5 2.9

6 1.5
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15. ��������ȱ��������Ǳȱ���ȱ
ę����ȱ��ě�������ȱ��ȱ���ȱ
are of region is the same 
as the number of layers 
�������ȱ�� �ȱ���ȱ�� ǯȱ���ȱ
each fold, the area of the 
new region is about half 
��ȱ���ȱ����ȱ��ȱ���ȱ��������ȱ
������ǯ

19. ��������ȱ��������Ǳȱ��ȱ
�¡���������ȱ��������ȱ����ȱ
���������ȱ����ȱ������������ȱ
because each fold gener-
ates a region that has half 
���ȱ����ȱ��ȱ���ȱ��������ȱ
������ǯ

REFLECT ANSWERS:
����ȱ���ȱ��ě������ȱ��ȱ¡Ȭ������ȱ
��ȱŗǰȱ���ȱ����������ȱ������ȱ���ȱ
��������ǯ

���ȱ����������ȱ�����ȱ��ȱ���ȱ����ȱ
��ȱ���ȱ����ȱ��ȱ���ȱ��������ǯ

HIGHER-ORDER THINKING STRATEGY
Use a graphic organizer such as a Venn diagram to help students compare and contrast 
linear relationships and exponential relationships. The Venn diagram could be construct-
ed in an interactive math notebook or math journal and students could add more infor-
mation as they learn more about linear and exponential relationships in this chapter.
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14. ���ȱ���ȱę����ȱ��ě�������ȱ��� ���ȱ���ȱ����ȱ��ȱ���ȱ�������ȱ���ȱ���ȱ������ȱ��ȱ
�����ȱ��������ǵȱ
� ȱ���ȱ¢��ȱ����ǵ
3T��GJHFZXJ�\MNQJ�ù]�"���FSI�NX�HTSXYFSY�KTW�J[JW^�XZHHJXXN[J�WT\��ù^�NX�
STY�HTSXYFSY�

15. ����ȱ��Ĵ����ȱ��ȱ¢��ȱ�������ȱ��ȱ���ȱ��ě�������ȱ��ȱ���ȱ�����ǵ
8JJ�RFWLNS�

16. ��ȱ����ȱ�ȱ������ȱ������������ǵȱ
� ȱ��ȱ¢��ȱ��� ǵ
3T��GJHFZXJ�YMJ�ąSNYJ�INKKJWJSHJX�FWJ�STY�HTSXYFSY�KTW�YMJ�XFRJ�ù]�

17. ����ȱ��ȱ���ȱ�����ȱ��� ���ȱ����������ȱ�����ȱ��ȱ�������ǵ
46.8

 93.5�Ā�������
23.4

 46.8�"�������
11.7

 23.4�"�������
5.8

 11.7�Ā�������
2.9

 5.8�"�������
1.5

 2.9 Ā����

18. ����ȱ ����ȱ��ȱ���ȱ����ȱ��ȱ���ȱ������ȱ�������ȱ�����ȱ���ȱŝth fold? 
7YM fold: 0.8

19. ����ȱ�¢��ȱ��ȱ��������ȱ����ȱ���������ȱ����ȱ������������ǵȱ�¡�����ȱ¢���ȱ���������ǯ
8JJ�RFWLNS�

20. �����ȱ��ȱ��������ȱ����ȱ�����ȱ��ȱ����ȱ��ȱ���������ȱyǰȱ���ȱ����ȱ��ȱ���ȱ������ǰȱ��ȱ
¢��ȱ��� ȱxǰȱ���ȱ������ȱ��ȱ�����ǯ

^�"�����( 1å
2) ]

REFLECT

�Q <MFY�IT�^TZ�STYNHJ�FGTZY�YMJ�XZHHJXXN[J�WFYNTX�NS�JFHM�WJQFYNTSXMNU$
8JJ�RFWLNS�

�Q <MFY�WJQFYNTSXMNU�J]NXYX�GJY\JJS�YMJ�XZHHJXXN[J�WFYNTX�NS�YMJ�IJUJS-
IJSY�[FWNFGQJ�FSI�YMJ�JVZFYNTSX�YMFY�^TZ�MF[J�\WNYYJS$

8JJ�RFWLNS�

EXPLAIN

����ȱ¢��ȱ�����ȱę����ȱ��ě�������ȱ����ȱ ���ȱ��������ȱ���ȱ���ȱ��-
�������ȱ ��������ǰȱ yǰȱ ���ȱ ���ȱ ��ě�������ȱ ��� ���ȱ ������ȱ ��ȱ ���ȱ
�����������ȱ��������ǰȱxǰȱ ���ȱ���ȱ����ǰȱ���ȱ������������ȱ ��ȱ���-
���ǯȱ ���ȱ ��ȱ ¢��ȱ����ȱ ����ǰȱ ����ȱ ��ȱ ���ȱ ����ȱ ���ȱ ����¢ȱ ����������ȱ
relationship. 

��ȱ ���ȱ ę����ȱ ��ě�������ȱ ���ȱ ���ȱ ��������ǰȱ ����ȱ ��ȱ ���ȱ ������ȱ ��-
� ���ȱ����������ȱ �� �ȱ ��ȱ ���ȱ �����ǯȱ ��ȱ �����ȱ ������ȱ���ȱ ��������ǰȱ
then the constant ratio is called a HTRRTS�WFYNT and the relation-
ship is an J]UTSJSYNFQ�KZSHYNTS. An exponential relationship is 

Watch Explain and
You Try It Videos

or click here

http://cosenzaassociates.com/video/1-4
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���ȱ��ȱ ����ȱ�����ȱ��ȱ��������ȱ��������������ǯȱ���ȱ�¡�����ǰȱ�ȱ
���������ȱ��������ȱ���ȱ�ȱ��������ȱ����������ǰȱ��ȱ���ȱ��������ȱ
���ȱ��ȱ�����������ȱ��ȱ��ȱ�¡���������ȱ��������ȱ ���ȱ�ȱ������ȱ
��ȱ ����ȱ�������ǯ

���Ȃ�ȱ ����ȱ����ȱ ������¢ȱ ��ȱ ��ȱ �¡���������ȱ ��������ǯȱ ���ȱ �����ȱ 
���� ȱ ��� �ȱ ���ȱ ������������ȱ ��� ���ȱ x and f(x). In an  
�¡���������ȱ��������ǰȱf(x) = abxǰȱbȱ����������ȱ���ȱ����ȱ��ȱ���ȱ�¡��-
�������ȱ��������ǰȱ ����ȱ��ȱ����ȱ�ȱ������ȱ�����ȱ��ȱ��������ȱ���-
�������ǯȱ���ȱ���������ȱaȱ����������ȱ��ȱ�������ȱ�����ȱ��ȱy-intercept.

Ǌx = 1 – 0 = 1

Ǌx = 2 – 1 = 1

Ǌx = 3 – 2 = 1

Ǌx = 4 – 3 = 1

Ǌx = 5 – 4 = 1

x y�"�f(x)

Ǌy = ab – a = a(b – 1)

Ǌy = ab(b) – ab = ab(b – 1)

Ǌy = ab(b)(b) – ab(b) = ab2(b – 1)

Ǌy = ab(b)(b)(b) – ab(b)(b) = ab3(b – 1)

Ǌy = ab(b)(b)(b)(b) – ab(b)(b)(b) = ab4(b – 1)

0 a

1 ab

2 ab(b)

3 ab(b)(b)

4 ab(b)(b)(b)

5 ab(b)(b)(b)(b)

������ȱ�ȱ������ȱ��������ǰȱ���ȱę����ȱ��ě�������ȱ���ȱ��ȱ�¡���������ȱ��������ǰȱf(x) = abxǰȱ
���ȱ���ȱ��������ǯȱ�������ǰȱ���ȱ��������������ȱ��Ĵ���ȱ����ȱ��ȱ�������ȱ��ȱ���ȱ��������ȱ����ȱ
�������ȱ��ȱ���ȱę����ȱ��ě�������ǯȱ

�������ȱ��ȱ�������ȱ��ȱ���ȱę����ȱ��ě�������ǰȱ���ȱ��ȱ�¡���������ȱ��������ǰȱ����ȱ�ȱ������ȱ
����ȱ��ȱ���ȱ����������ȱ������ǯ

Ǌx = 1 – 0 = 1

Ǌx = 2 – 1 = 1

Ǌx = 3 – 2 = 1

Ǌx = 4 – 3 = 1

Ǌx = 5 – 4 = 1

x y�"�f(x)

 yn  = ab = byn-1     
a

 yn  = a(b)(b) = byn-1      a(b)
 yn  = a(b)(b)(b) = byn-1      a(b)(b)
 yn  = a(b)(b)(b)(b) = byn-1      a(b)(b)(b)
 yn  = a(b)(b)(b)(b)(b) = byn-1      a(b)(b)(b)(b)

0 a

1 ab

2 ab(b)

3 ab(b)(b)

4 ab(b)(b)(b)

5 ab(b)(b)(b)(b)

In an exponential 
��������ǰȱ��ȱ���ȱ����ȱ
��ȱ�������ȱ����ȱŗǰȱ����ȱ
the function represents 
exponential growth. If 
���ȱ����ȱ��ȱ��� ���ȱŖȱ
���ȱŗǰȱ����ȱ���ȱ��������ȱ
represents exponential 
decay.
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INTEGRATE 
TECHNOLOGY
Use technology such as 
a graphing calculator 
or spreadsheet app on a 
display screen to show 
students how geometric 
sequences are related to 
exponential functions. If 
the exponential function’s 
domain is restricted to 
whole numbers, then the 
resulting points represent a 
geometric sequence. 
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������ȱ����ȱ��ȱ���ȱ�����ǰȱǊxȱƽȱŗǯȱ
�� ���ȱ����ǰȱ���ȱ������ȱ�����ȱ���ȱ����������ȱ�� �ȱ��ȱ
����������ȱ��ȱbǰȱ ����ȱ��ȱ���ȱ����ȱ��ȱ���ȱ�¡���������ȱ������������ǯ

COMMON RATIOS AND EXPONENTIAL FUNCTIONS

In an exponential function, the ratios between succes-
sive y-values, 

yn yn-1
, are constant if the differences between 

successive x�[FQZJX��ùx, are also constant.

If the ratios of successive values of the dependent vari-
able in a table of values are constant, then the values rep-
resent an exponential function.

���ȱ���ȱ����ȱ���ȱ���ȱ������ȱ�����ȱ��ȱ ����ȱ��ȱ�¡���������ȱ ��������ȱ����������ȱ���ȱ
������������ȱ��� ���ȱ���ȱ�����������ȱ���ȱ���������ȱ���������ǯ

EXAMPLE 1
����ȱ ���ȱ ���ȱ��ȱ����ȱ ��� �ȱ���� ȱ���������ȱ��ȱ�¡���������ȱ ��������ǵȱ ������¢ȱ¢���ȱ
��� ��ǯ

x y

0 1

1 5

2 25

3 125

4 625
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ADDITIONAL 
EXAMPLES
Determine if each of the 
data sets below represent 
an exponential function. 
Justify your answer.

1.

�¡���������

2.

�¡���������

3.

���ȱ�¡���������

����Ǳȱ��¢ȱ�������ȱ�Ĵ������ȱ��ȱ
��������Ȃȱ�����ę������ȱ���ȱ���ȱ
�����ȱ����������ȱ�¡�����ǯȱ��ȱ
mindful that some students 
may say “no, because the 
��ě�������ȱ��� ���ȱ����������ȱ
������ȱ��ȱ¡ȱ���ȱ���ȱŗǯȄȱ���ȱ
��ě�������ȱ���ȱ��������ǰȱ���ȱ
���ȱ�����ȱ��� ���ȱ����������ȱ
������ȱ��ȱ¢ȱ���ȱ���ȱ��������ǯ

x 0 1 2 3 4

y 2 6 18 54 162

x -1 0 1 2 3

y 8 4 2 1 0.5

x 3 6 9 12 15

y 12 17 22 27 32
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 STEP 1� )JYJWRNSJ�YMJ�ąSNYJ�INKKJWJSHJX�GJY\JJS�XZHHJXXN[J�x-values 
and the ratios between successive y-values.

Ǌx = 1 – 0 = 1

Ǌx = 2 – 1 = 1

Ǌx = 3 – 2 = 1

Ǌx = 4 – 3 = 1

x y

 yn  = 5 = 5yn-1     1
 yn  = 25 = 5yn-1     5
 yn  = 125 = 5yn-1     25
 yn  = 625 = 5yn-1     125

0 1

1 5

2 25

3 125

4 625

 STEP 2 Determine whether or not the differences between successive 
x-values and ratios between successive y-values are constant.

���ȱ��ě�������ȱ��� ���ȱ����������ȱ������ȱ��ȱxǰȱǊxǰȱ���ȱ���ȱŗǰȱ��ȱ���¢ȱ
are constant.

���ȱ������ȱ��� ���ȱ����������ȱ������ȱ��ȱyǰȱ
yn yn-1
ǰȱ���ȱ���ȱśǰȱ��ȱ���¢ȱ���ȱ

constant.

 
yn yn-1  =

  5
 

1

 
= śȱ���ȱ���ȱ�����ȱ��ȱǊx and

  yn
yn-1

. Ǌx

 STEP 3 Determine whether or not the set of data represents an 
exponential function.

���ǰȱ���ȱ���ȱ��ȱ����ȱ����������ȱ��ȱ�¡���������ȱ��������ȱ�������ȱ���ȱ��ě�������ȱ��� ���ȱ
����������ȱ¡Ȭ������ȱ���ȱ���ȱ������ȱ��� ���ȱ����������ȱ¢Ȭ������ȱ���ȱ��������ǯ



44 C H A P T E R  1 :  A L G E B R A I C  PAT T E R N S

YOU TRY IT! #1 ANSWER:
���ǰȱ���ȱ���ȱ��ȱ����ȱ����������ȱ
��ȱ�¡���������ȱ��������ǰȱ
�������ȱ���ȱę����ȱ��ě�������ȱ��ȱ
¡ȱ���ȱ���ȱ����������ȱ������ȱ��ȱ¢ȱ
���ȱ����ȱ��������ǯ

44 c H a p t E r  1 :  a l g E B r a i c  pat t E r n s

EXAMPLE 2
����ȱ ���ȱ ���ȱ��ȱ����ȱ ��� �ȱ���� ȱ���������ȱ��ȱ�¡���������ȱ ��������ǵȱ ������¢ȱ¢���ȱ
��� ��ǯ

x y

0 8

1 4

2 2

3 0.8

4 0.4

YOU TRY IT! #1

����ȱ���ȱ���ȱ��ȱ����ȱ��� �ȱ���� ȱ���������ȱ��ȱ�¡���������ȱ��������ǵȱ������¢ȱ¢���ȱ
��� ��ǯ

x y

0 1.2

1 1.44

2 1.728

3 2.0736

8JJ�RFWLNS�
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YOU TRY IT! #2 ANSWER:
��ǰȱ���ȱ���ȱ��ȱ����ȱ����ȱ���ȱ���-
������ȱ��ȱ�¡���������ȱ��������ǰȱ
�������ȱ��������ȱ���ȱę���ȱ���-
ferences in x are constant, the 
������ȱ��� ���ȱ����������ȱ������ȱ
��ȱ¢ȱ���ȱ���ȱ��������ǯ
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 STEP 1� )JYJWRNSJ�YMJ�ąSNYJ�INKKJWJSHJX�GJY\JJS�XZHHJXXN[J�
x-values and ratios between successive y-values. 

Ǌx = 1 – 0 = 1

Ǌx = 2 – 1 = 1

Ǌx = 3 – 2 = 1

Ǌx = 4 – 3 = 1

x y

 yn  = 4 = 1yn-1     8    2
 yn  = 2 = 1yn-1     4    2
 yn  = 0.8 = 2yn-1     2     5
 yn  = 0.4 = 1yn-1     0.8    2

0 8

1 4

2 2

3 0.8

4 0.4

 STEP 2 Determine whether or not the differences are 
constant.

���ȱ��ě�������ȱ��ȱxǰȱǊxǰȱ���ȱ���ȱŗǰȱ��ȱ���¢ȱ���ȱ��������ǯ

���ȱ������ȱ��ȱ����������ȱ������ȱ��ȱyǰȱ
yn yn-1
ǰȱ���ȱ���ȱ���ȱ���ȱ����ǰȱ

��ȱ���¢ȱ���ȱ���ȱ��������ǯ

 STEP 3 Determine whether or not the set of data represents 
an exponential function.

No, the set of data does not represent an exponential function because even 
������ȱ���ȱ��ě�������ȱ��ȱ����������ȱ������ȱ��ȱ¡ȱ���ȱ��������ǰȱ���ȱ������ȱ��-
� ���ȱ����������ȱ������ȱ��ȱ¢ȱ���ȱ���ȱ��������ǯ

YOU TRY IT! #2

����ȱ���ȱ���ȱ��ȱ����ȱ��� �ȱ���� ȱ���������ȱ��ȱ�¡���������ȱ��������ǵȱ������¢ȱ¢���ȱ
��� ��ǯ

x y

0 9.2

1 18.4

2 46

3 92

4 230

8JJ�RFWLNS�
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ADDITIONAL 
EXAMPLES
Determine if each of the 
data sets below represent 
an exponential function. If 
so, write a function relating 
the variables. Justify your 
answer.

1. 

�¡���������ǰȱ¢ȱƽȱȬŘx

2. 

���ȱ�¡���������

3. 

���ȱ�¡���������

4. 

�¡���������ǰȱ¢ȱƽȱřǻŗǯśǼx

x 0 1 2 3 4

y -1 -2 -4 -8 -16

x 2 3 5 8 12

y -
2—
3 1 -1.5 2.25 -3.375

x 1 2 3 4

y 4.5 6.75 10.125 15.1875

x 18 15 12 9

y 24 22 20 18

46 c H a p t E r  1 :  a l g E B r a i c  pat t E r n s

EXAMPLE 3
���ȱ���ȱ����ȱ���ȱ���� ǰȱ���������ȱ��ȱ���ȱ������������ȱ��ȱ��ȱ�¡���������ȱ��������ǯȱ��ȱ��ǰȱ
 ����ȱ�ȱ��������ȱ��������ȱ���ȱ���������ǯ

x y

1 4

2 10

3 25

4 62.5

5 156.25

 STEP 1� )JYJWRNSJ�YMJ�ąSNYJ�INKKJWJSHJX�GJY\JJS�XZHHJXXN[J�x-values 
and the ratios between successive y-values.

Ǌx = 2 – 1 = 1

Ǌx = 3 – 2 = 1

Ǌx = 4 – 3 = 1

Ǌx = 5 – 4 = 1

x y

 yn  = 10 = 2.5yn-1     4
 yn  = 25 = 2.5yn-1     10
 yn  = 62.5 = 2.5yn-1     25
 yn  = 156.25 = 2.5yn-1     62.5

1 4

2 10

3 25

4 62.5

5 156.25

 STEP 2 Determine whether or not the relationship is an exponential 
function.

���ȱ��ě�������ȱ��ȱxǰȱǊxǰȱ���ȱ���ȱŗǰȱ��ȱ���¢ȱ���ȱ��������ǯ

���ȱ������ȱ��� ���ȱ����������ȱ������ȱ��ȱyǰȱȱ
yn yn-1
ǰȱ���ȱ���ȱŘǯśǰȱ��ȱ���¢ȱ���ȱ

constant.

�����ȱ���ȱę���ȱ��ě�������ȱ��ȱxȱ���ȱ���ȱ����������ȱ������ȱ��ȱy are all con-
�����ǰȱ���ȱ������������ȱ��ȱ��ȱ�¡���������ȱ��������ǯ
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ADDITIONAL 
EXAMPLES
After completing the addi-
tional examples on pg. 46, 
��� ȱ��������Ȃȱ�Ĵ������ȱ
back to examples 2 and 3. 
Based on prior lessons, ask 
if they can write a function 
rule for either of those sets 
��ȱ����ǵȱ

���ǰȱ����������ȱ�¡�����ȱǛŘȱ��ȱ
������ǯȱ���ȱ��������ȱ����ȱ��ȱ 
y = 2–3xȱȬŗŘǯ
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 STEP 3 Determine the y-intercept of the exponential function.

����ȱ���� ����ȱ����ȱx = 1 and y = 4.

1 – 0 = 1

2 – 1 = 1

x y

 4 = 2.5
 a
 10 = 2.5
 4

0 a

1 4

2 10

  4
 = 2.5

             a

 a( 4 ) = 2.5(a)
        a

 4 = 2.5a

 
4—2.5 = 

2.5a—2.5

 1.6 = a

���ȱyȬ���������ȱ��ȱǻŖǰȱŗǯŜǼǯ

 STEP 4 Use the y-coordinate of the y-intercept and the common ratio 
to write the exponential function.

¢ȱƽȱŗǯŜǻŘǯśǼx

YOU TRY IT! #3

���ȱ���ȱ����ȱ���ȱ���� ǰȱ���������ȱ��ȱ���ȱ������������ȱ��ȱ��ȱ�¡���������ȱ��������ǯȱ��ȱ��ǰȱ
 ����ȱ�ȱ��������ȱ��������ȱ���ȱ���������ǯ

x y

1 14

2 98

3 686

4 4802

&SX\JW��^�"��
��]
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QUESTIONING 
STRATEGIES
Assist students in process-
ing their learning by hav-
ing students write the steps 
in their own words.

• How would you ex-
plain to a friend how 
you know if a set of 
data represents an ex-
���������ȱ��������ǵȱ

• Explain how to write 
an exponential func-
tion based on a table 
of values to someone 
who has never seen this 
math lesson.

48 c H a p t E r  1 :  a l g E B r a i c  pat t E r n s

EXAMPLE 4
���ȱ���ȱ����ȱ���ȱ���� ǰȱ���������ȱ��ȱ���ȱ������������ȱ��ȱ��ȱ�¡���������ȱ��������ǯȱ��ȱ��ǰȱ
 ����ȱ�ȱ��������ȱ��������ȱ���ȱ���������ǯ

x y

1 1000

2 400

3 160

4 64

5 25.6

 STEP 1� )JYJWRNSJ�YMJ�ąWXY�INKKJWJSHJX�GJY\JJS�XZHHJXXN[J�x-values 
and the ratios between successive y-values.

Ǌx = 2 – 1 = 1

Ǌx = 3 – 2 = 1

Ǌx = 4 – 3 = 1

Ǌx = 5 – 4 = 1

x y

 yn  = 400 = 0.4yn-1     1000
 yn  = 160 = 0.4yn-1     400
 yn  =  64   = 0.4yn-1      160
 yn  = 25.6 = 0.4yn-1     64

1 1000

2 400

3 160

4 64

5 25.6

 STEP 2 Determine whether or not the relationship is an exponential 
function.

���ȱ��ě�������ȱ��ȱxǰȱǊxǰȱ���ȱ���ȱŗǰȱ��ȱ���¢ȱ���ȱ��������ǯ

���ȱ������ȱ��� ���ȱ����������ȱ������ȱ��ȱyǰȱȱ
yn yn-1
ǰȱ���ȱ���ȱŖǯŚǰȱ��ȱ���¢ȱ���ȱ

constant.

�����ȱ���ȱę���ȱ��ě�������ȱ��ȱxȱ���ȱ���ȱ����������ȱ������ȱ��ȱy are all con-
�����ǰȱ���ȱ������������ȱ��ȱ��ȱ�¡���������ȱ��������ǯ
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 STEP 3 Determine the y-intercept of the exponential function.

����ȱ���� ����ȱ����ȱx = 1 and y = 1000.

1 – 0 = 1

2 – 1 = 1

x y

 1000 = 0.4
 

a
  400  = 0.4
 1000

0 a

1 1000

2 400

  
1000

a     = 0.4

 a( 1000
a )  = 0.4(a)

 1000 = 0.4a

 
1000

 0.4  = 
0.4a

 0.4 

 2500 = a

���ȱyȬ���������ȱ��ȱǻŖǰȱŘśŖŖǼǯ

 STEP 4 Use the y-coordinate of the y-intercept and the common ratio 
to write the exponential function.

¢ȱƽȱŘśŖŖǻŖǯŚǼx

YOU TRY IT! #4

���ȱ���ȱ����ȱ���ȱ���� ǰȱ���������ȱ��ȱ���ȱ������������ȱ��ȱ��ȱ�¡���������ȱ��������ǯȱ��ȱ��ǰȱ
 ����ȱ�ȱ��������ȱ��������ȱ���ȱ���������ǯ

x y

1 81

2 27

3 9

4 3

5 1

&SX\JW��^�"����( 1—
3) ]
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50 c H a p t E r  1 :  a l g E B r a i c  pat t E r n s

PRACTICE/HOMEWORK
���ȱ���������ȱŗȬŚȱ���ȱę����ȱ��ě�������ȱ��ȱ���������ȱ��ȱ����ȱ�����ȱ����������ȱ��ȱ�¡���������ȱ
��������ǯȱ���ȱ����ȱ�������ȱ����ȱ��ȱ�������ȱ��ȱ�����ȱ��ȱ������ȱŚȱ������ǰȱ���ȱ��ȱ���������ȱ���ȱ
¢Ȭ�����ȱ���ȱ����ȱ¡Ȭ�����ǰȱ���ȱ���ȱ���ȱ������ȱ��ȱ����ȱ¢��ȱ���������ȱ ������ȱ��ȱ���ȱ���ȱ����ȱ
����������ȱ��ȱ�¡���������ȱ��������ǯ

 

      Yes               No

      No            Yes

���ȱ���������ȱśȬŞȱ�������¢ȱ��ȱ����ȱ�����ȱ����������ȱ��ȱ�¡���������ȱ��������ȱ��ȱ���ǯȱ��ȱ���ȱ�����ȱ
����������ȱ��ȱ�¡���������ȱ��������ǰȱ�������¢ȱ���ȱ������ȱ�����ǯ

ȱȱȱȱȱȱ�¡���������ȱ��������ǵȱNo        �¡���������ȱ��������ǵȱYes
      Common Ratio: 3TSJ� � � ������Common Ratio: 2

ȱȱȱȱȱȱ�¡���������ȱ��������ǵȱYesȱ ȱ ȱȱȱȱȱȱ�¡���������ȱ��������ǵȱYes
      Common Ratio: 1.5         Common Ratio: 0.25
 
  

1. x y
0 2

1 6

2 18

3 54

5. x y
1 2

2 4

3 6

4 8

3. x y
0 0

1 1

2 8

3 27

7. x y
1 3

2 4.5

3 6.75

4 10.125

2. x y
0 3

1 4

2 7

3 12

6. x y
1 2

2 4

3 8

4 16

4. x y
0 3

1 6

2 12

3 24

8. x y
1 4

2 1

3 0.25

4 0.0625



         51

10. �¡���������ȱ��������ȱ

 �����ȱǊ¡ȱ��ȱ��������ǰȱǊ¢ȱ
��ȱ���ȱ��������ǯȱ���ȱ����-
�����ȱ����ȱ����ȱ�ȱ������ȱ
�����ȱ��ȱŘǯ
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���ȱ���������ȱŗřȬŗŞȱ�������¢ȱ��ȱ����ȱ�����ȱ����������ȱ��ȱ�¡���������ȱ��������ȱ��ȱ���ǯȱȱ��ȱ���ȱ
�����ȱrepresentsȱ��ȱ�¡���������ȱ��������ǰȱ ����ȱ���ȱ��������ȱ��������ȱ���ȱ���������ǯ

 

ȱȱȱȱȱȱ�¡���������ȱ��������ǵȱNoȱ ȱ ȱȱȱȱȱȱ�¡���������ȱ��������ǵȱYes 
ȱȱȱȱȱȱ��������ǱȱN/Aȱȱȱ ȱ ȱ ȱ ȱȱȱȱȱȱ��������Ǳȱ^�"���
����]

• Ǌx = 1
• ���ȱ ���������ȱ ��ȱ ��ȱ �¡�����ȱ

��ȱ�¡���������ȱ����¢ǯ
• ���ȱ��������ȱ��ȱ����������ǯ
• ���ȱ������ȱ�����ȱ��ȱŘǯ
• ���ȱyȬ���������ȱ��ȱǻŖǰȱŖǯŗǼǯ

• ���ȱ��������ȱ��ȱ������ǯ
• ���ȱ��������ȱ��ȱ����������ǯȱ
• Ǌy = 0.1
• ���ȱ������ȱ�����ȱ��ȱŖǯŘǯȱ
• ���ȱ���������ȱ��ȱ��ȱ�¡�����ȱ��ȱ�¡-

���������ȱ��� ��ǯ

���ȱ���������ȱşȬŗŘȱ���ȱ���ȱ���������ȱ���� ǯȱ

CRITICAL THINKING

�ȱ�����ȱ��ȱ�����ȱ��ȱŖǯŗȱ��ȱ�����ǯȱȱ����ȱ���ȱ�����ȱ��ȱ������ȱ��ȱ����ǰȱ���ȱ�����ȱ���������ȱ
��ȱ���ȱ��¢���ȱ��ȱ�����ȱ��ȱŖǯŘȱ��ǯȱȱ����ȱ���ȱ�����ȱ��ȱ������ȱ��ȱ����ȱ�����ǰȱ���ȱ�����ȱ�����-
����ȱ��ȱ���ȱ��¢���ȱ��ȱ�����ȱ��ȱŖǯŚȱ��ǯ

9. ��������ȱ���ȱ�����ȱ���� ȱ��ȱ���������ȱ���ȱ���������ǯ

NUMBER 
OF FOLDS

x

TOTAL THICKNESS 
OF LAYERS

y

0 0.1

1 0.2

2 0.4

3 0.8

4 1.6

10. ����ȱ���ȱ���������ȱ���������ȱ�ȱ������ȱ��������ȱ��ȱ��ȱ�¡���������ȱ��������ǵȱȱ�����-
�¢ȱ¢���ȱ��� ��ǯ
8JJ�RFWLNS�

11. �����ȱ��ȱ���ȱ����� ���ȱ����������ȱ���ȱ��������ȱ����ȱ������ȱ����ȱ���������ǵ
A. y = x + 0.1     C. y = 0.1 • 2x
B.  y = 2 • 0.1x    D. y = 2x + 0.1

12. �����ȱ��ȱ���ȱ����� ���ȱ����������ȱ���ȱ����ȱ�����ȱ���ȱ���������ǵ

13. x y
0 0

1 4

2 32

3 108

14. x y
0 40

1 8

2 1.6

3 0.32
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21. Possible Answer:

 ���ȱ�����ȱ��ȱ�ǰȱŗŖŖǰȱ��ȱ���ȱ����ȱ��ȱ���ȱ��������ȱ�����ȱ��ȱ�����ǯȱ���ȱ�����ȱ��ȱ�ǰȱ
Ŗǯśǰȱ����������ȱ��Ĵ���ȱ���ȱ�����ȱ��ȱ����ȱ����ȱ����ǯȱ���ȱ����ȱ����������ȱ���ǰȱ
���ȱ����ȱ��ȱ�����ȱ��ȱ�������ȱ�����ȱ�¢ȱ�ȱ������ȱ��ȱŖǯśǯ

52 c H a p t E r  1 :  a l g E B r a i c  pat t E r n s

ȱȱȱȱȱȱ�¡���������ȱ��������ǵȱYesȱ ȱ ȱȱȱȱȱȱ�¡���������ȱ��������ǵȱNo
ȱȱȱȱȱȱ��������Ǳ�^�"���
����]� � �       ��������ǱȱN/A

   

ȱȱȱȱȱȱ�¡���������ȱ��������ǵȱYesȱ ȱ ȱȱȱȱȱȱ�¡���������ȱ��������ǵȱYes
ȱȱȱȱȱȱ��������Ǳȱ^�"������
����]ȱ ȱ ȱȱȱȱȱȱ��������Ǳȱȱ^�"����
��]

���ȱ���������ȱŗşȬŘŖȱ���ȱ���ȱ���������ȱ���� ǯ

CRITICAL THINKING

�ȱ�����ȱ��ȱ�����ȱ���ȱ��ȱ����ȱ��ȱŗŖŖȱ������ȱ������ǯȱ����ȱ���ȱ�����ȱ��ȱ���ȱ��ȱ����ǰȱ���ȱ
����ȱ��ȱ���ȱ�����ȱ��ȱśŖȱ������ȱ������ǯȱ����ȱ����ȱ�����ȱ��ȱ���ȱ��ȱ����ǰȱ���ȱ����ȱ��ȱ���ȱ
piece is 25 square inches.

NUMBER OF 
CUTS
x

AREA OF 
ONE PIECE

y

0 100

1 50

2 25

19. ����ȱ ����ȱ��ȱ���ȱ����ȱ��ȱ���ȱ�����ȱ�����ȱśȱ����ǵ
������XVZFWJ�NSHMJX

20. �����ȱ���ȱ��������ȱ��������ȱ���ȱ���������ǯ
^�"����
����]

21. ��� ȱ�ȱ�������ȱ��ȱ���ȱ�����ȱ���ȱ�� ȱ��ȱ��ȱ���ȱ��ȱ����ǯȱ���ȱ���ȱ�������ȱ��ȱ
���������ȱ���ȱ������ȱ��ȱa and bȱ��ȱ¢���ȱ�¡���������ȱ��������ǯȱ�����������ȱ¢���ȱ
������������ȱ���������ȱ���ȱ���ȱ������������ȱ�����ȱ���ȱ�������ǯ
8JJ�RFWLNS�

15. x y
0 50

1 25

2 12.5

3 6.25

17. x y
1 4500

2 6750

3 10,125

4 15,187.5

16. x y
1 300

2 150

3 100

4 75

18. x y
1 14

2 56

3 224

4 896


